Solow growth model

Labor productivity, v >0, X;+1=(147) Xt:>X;(—:1: 1+~,t=0,1,......
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Population grow at rate of n >0, Li11=(1+n)L;= =1+n
Effective labor force N;= X; L;

Production function ¥;=AK#N!™* 0<a<1

Consumption demand is a fraction of their income: Cy= (1 —s) Y]
Aggregate resource constraint: Cy + I} =Y}

Capital accumulation: 0 =1= K; 1= 1I;
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Two economy: a and b,

Economy b has higher saving rate s, > s, and higher labor productivity
growth v, > v,

Sp - Sa
14 Yo o 1+ Ya
ko > <kp?

b=yt )






